A 2 o & A

Al A

2N nEW
ME: JEDE S4 22/050S - 22SIE)
&2 sus M &2
S - B S(B) - NIRAR - BHAS (ggj) @%%’%‘” 2
wWEN 9,019,465 7,220,427 1,799,038
= 264,800
g 73,000
J| 175,000
& 767,276
Al 7,739,389
UsnsE 4 XA SF/HENE - 2F/SIIE 8,658,254 7,053,318 1,604,936
= 264,800
rag 73,000
J| 175,000
= 767,276
Al 7,378,178
=nE MEXE 6,669,350 5,824,392 844,958
== 157,100
rag 73,000
J| 175,000
== 685,386
Al 5,578,864
HH2SAIE THE X2 1,241,390 1,259,813 N 18,423
& 289,305
Al 952,085
201 LE2HH 1,190 18,983 A17,793
01 At 1,190 1,050 140
=0 A 1,190 1,050 140
OAILIH HEAK S
70,0002 x7 2 %13 490
OEAl Xtg 3
70,0002 x5 %13 350
OnsE2xt SHARS
70,0002 x5 x 13| 350
207 AR 20,000 20,000
01 s 20,000 20,000
=01 A 20,000 20,000
OAlUHA THEXIE A71sd 20,000
307 21zZto| ™ 1,220,200 1,220,830 B30
& 289,305
Al 930,895
0 2FEAHEEXZ 1,220,200 1,220,830 B30
o= 289,305
Al 930,895
S0 A 1,220,200 1,220,830 2630
& 289,305
Al 930,895
OALHHA DSEIE A&l A A 110,000




ns
MM (1Z0S S4 IV (WSLSF/UZLE - SRSIIE)
o4 =swns MEXH (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
OAUHA WSIHE BHESE0l S=A-HA 40,000
OAMUHA 220HAH HERIA 70,200
& 21,060
Al 49,140
OAlLIHA 2B A HE XA (H12=2) 1X+ 894,150
= 268,245
Al 625,905
OAMUHA 25A THE XIS (H1=) 1
KHCKEAL) 105,850
SIS a2 a 90,000 140,000 AB0,000
iy 27,000
& 18,000
Al 45,000
307 QIZ2tol ™ 90,000 140,000 50,000
s 27,000
& 18,000
Al 45,000
QO 2xHHEXZS 90,000 140,000 250,000
s 27,000
& 18,000
Al 45,000
20l & 90,000 140,000 50,000
sy 27,000
= 18,000
Al 45,000
O8NLd &a84 90,000
= 27,000
& 18,000
Al 45,000
2+ RIIIEEZ2 X3 2,800,000 3,100,000 A300,000
307 QIZ2t0|™ 2,800,000 3,100,000 A300,000
09 2HAHEXS 2,800,000 3,100,000 A300,000
=0i & 2,800,000 3,100,000 A300,000
OUHXIMA 28 RSH BX 2,800,000
oA (112CH) 1,860,000
S EHA(304LH) 660,000
o 32 (158CH) 280,000
HAZ2SAIEA SN2 dEESR 3,600 3,600 0
308 AHXISHMSOIN 3,600 3,600 0
07 MXISHZIREZ 3,600 3,600 0
S0 &t 3,600 3,600 0
OHAZSAIET BN 24 HEEY 3,600
EHAl 2Rt EA AN 522,000 300,000 222,000




2N WS
I (1ZUS 84 NA(DSVSE/USLE - 22SIIE)
o4 =swns MEXH (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
= 54,600
Al 467,400
301 Let8dZ 522,000 300,000 222,000
= 54,600
Al 467,400
14 J|Et2 &3 522,000 300,000 222,000
= 54,600
Al 467,400
=0 & 522,000 300,000 222,000
= 54,600
Al 467,400
OEAl 2 BAAN2 (14TH) 182,000
= 54,600
Al 127,400
OEAl 2 BAPAR (14TH) (XEXI) 340,000
SSEEAI(SILEAl) THEXIH 366,073 446,963 280,890
= 46,000
& %,022
Al 224,051
301 Let2HZ 366,073 446,963 280,890
= 46,000
= %,022
Al 224,051
14 JIEI2 A3 366,073 446,963 280,890
sy 46,000
= %,022
Al 224,051
20 & 366,073 446,963 80,890
= 46,000
& %,022
Al 224,051
OZSSEAI(SIYEHAl) HEXIA 366,073
s 46,000
& %,022
Al 224,051
SHMHEHA(SHEH) MEXIA 132,000 240,000 A108,000
307 QIZ2+0| ™ 132,000 240,000 A 108,000
09 2HHEES 132,000 240,000 108,000
S0i & 132,000 240,000 A 108,000
OBHE Al SHH 2Z XA
11,000,000 x20H 2 +6H 132,000
EHAl 212 ST 171,760 171,760
201 LEt23d| 171,760 171,760




2N nEW
HM: HznE 4 NF(NELYLESF/UEUE - S5SDIE
ool HEDE HEAE (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
01 AtR2teld| 171,760 171,760
S0 A 171,760 171,760
OEAl E8 &HEH| 205,000 *304CH 62,320
(@r=3=1: 30,000 *304CH* 1200 & 109,440
BIAIR 2 IIELELEE X2 54,720 37,680 17,040
& 15,321
Al 39,399
307 21Zto| ™ 54,720 37,680 17,040
& 15,321
Al 39,399
0 2FEAHEEXZ 54,720 37,680 17,040
o= 15,321
Al 39,399
=20 A 54,720 37,680 17,040
& 15,321
Al 39,399
QOEAl 22 JIExE X3 51,071
= 15,321
Al 35,750
OEAl 22 HESLS2 KK (KA 3,649
WEAX HISKEAl 018 K& 72,000 0 72,000
J| 20,000
Al 52,000
301 LEEN= 72,000 0 72,000
J| 20,000
Al 52,000
14 JIEIE A2 72,000 0 72,000
J| 20,000
Al 52,000
=0 A 72,000 0 72,000
J| 20,000
Al 52,000
OuWSES2X HIRKMEAl 0|2 X 72,000
J| 20,000
Al 52,000
BAISHE B2 AIAE KX 22| 4,029 4,085 PaNSo)
402 QIR0 A 4,029 4,029
03 QIZ2tRIEAIZHI 4,029 4,029
=0 A 4,029 4,029
QA2 FE 22| AIAE S| 22 4,029
SEHEHNSLCHUWEXA ZEHA)2H 2%, 118 246,251 49,867
= 30,500
J| 155,000




SN DS
L ENVE
[H=

1S S4 N (DELSR/HEDS - 2RSIIE
o nE MEXA (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 110,618
307 QIZt0IA 296, 118 246,251 49,867
= 30,500
| 155,000
Al 110,618
05 DIZIRIELZ 296,118 246,251 49,867
= 30,500
J| 155,000
Al 110,618
20 & 296,118 246,251 49,867
= 30,500
J| 155,000
Al 110,618
OSEUS+CHuSAL SEA)RE 2
F01=2) 155,000
J| 155,000
OSEUSHH USAR SHA)AE 2
A (=Hl) 30,500
= 30,500
OSEUS+CHuSAL SEANRE 2
A (KHAI 110,618
SHNSHHH (WSS 2EAl) I 2 150,000 46,000 104,000
= 72,000
== 21,600
Al 56,400
405 RHaHESH| 150,000 46,000 104,000
= 72,000
& 21,600
Al 56,400
01 T SEFH S| 150,000 46,000 104,000
= 72,000
& 21,600
Al 56,400
S04 & 150,000 46,000 104,000
= 72,000
& 21,600
Al 56,400
OSgust &g 144,000
= 72,000
= 21,600
Al 50,400
OSgusSao T (K 6,000
BHAI2 ALY A& =& 164,160 0 164,160
= 44,6388




=M DED
A EUE S5 I (USLEF/UNEUS - 2F[STIEY)
o4 =swns MEXH (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
Al 119,472
307 QIZt0IA 164,160 164,160
& 44,688
Al 119,472
09 2HHEES 164,160 164,160
= 44,6388
Al 119,472
S0/ & 164,160 164,160
& 44,688
Al 119,472
OBHE EAl SEH| XA
350, 000 *304CH 106,400
& 31,920
Al 74,480
OEAl SAIISEX &X K&
140,000 *304CH 42,560
= 12,768
Al 29,792
OE{Al OIED] B1E K& 50,0003 *304CH 15,200
wWE3A(EH) A 600,000 600,000
= 200,000
Al 400,000
401 AIEHIL 0L 600,000 600,000
& 200,000
Al 400,000
01 Al&H| 588,840 588,840
= 200,000
Al 388,840
20 & 583,840 583,840
& 200,000
Al 388,840
Ouss|& MESA 583,840
& 200,000
Al 383,840
02 2eldl 7,380 7,380
20 & 7,380 7,330
OuES3|& M=ZAF 22ld]
600,000,000 *1.23% 7,380
03 A&t 3,780 3,780
204 & 3,780 3,780
OuEs|& M=ZA ALY
600,000,000 0.63% 3,780
EHAl CHAHHIE K& A 1,500 1,500
== 450
Al 1,050




2N WS
ME: JZDS S48 NY(DSLBR/HEDS - BRSIIE)
o4 =swns MEXH (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
307 QIZ2t0IA 1,500 0 1,500
& 450
Al 1,050
9 2HHEES 1,500 0 1,500
= 450
Al 1,050
20 & 1,500 0 1,500
& 450
Al 1,050
OEHAl THXIHIE XI& A 1,500
& 450
Al 1,050
U=znE AlE= 2el 778,366 R,736 685,630
= 105,000
= 80,000
Al 593, 366
HSuSAIE HEXA 395,338 72,736 322,602
& 10,000
Al 385,338
201 Ler23d| 66,130 14,630 51,500
01 At22teltl 45,690 13,190 32,500
204 & 45,690 13,190 32,500
Ol HA SHHHE Y S AL E
JSIESs 100,000 & *300H4 3,000
OUSnSALS(SLE)HL 22 fIE
=29 42,000
oY Hize /A E9
18,000,000 1 EH+212 A 36,000
oANIE S2E EAze S 249
500,000& *123] 6,000
O3|UEHAl FIEZHAIAE 1CE WXl
1,380 *5000H 690
02 323l 20,440 1,440 19,000
204 & 20,440 1,440 19,000
OHASZE HIIRS 100,000 x12& 1,200
OUENE SEEE AMHIA AAE 29
4,750,000& x4Z 7| 19,000
SENESC I Ham 2
80,000 =374 240
202 O4H| 2,208 2,096 112
01 =LHOH] 2,208 2,096 112
20 & 2,208 2,096 112
OQuS:E HRFX
88,0003 x2H *x2 2 x43| 1,408
Olsust=s 2 29X Zd2e 800
301 Let8dZ 1,000 1,000 0




2N WS
I (1ZUS =4 NY(DSVSE/USLE - 22SIE)
o W=snsE AlEd= 2l (Gt &
SH - B S9(3H) - NRAY - BES S SR HIDS2
14 JIEI2 &3 1,000 1,000
=0 A 1,000 1,000
OsISAsI DALY fIBreti?) Al
ZAMS 1,000
307 QIZ2t0| A 26,000 5,010 20,990
& 10,000
Al 16,000
02 RIZHEBAAIEE L 26,000 5,010 20,990
& 10,000
Al 16,000
204 & 26,000 5,010 20,990
= 10,000
Al 16,000
OUsnE HelZ2A =8 L HAKA 6,000
ORYH2HAAE S| Hst82E N AS 20,000
& 10,000
Al 10,000
401 AIEBIZ U] 300,000 50,000 250,000
01 Al&H| 300,000 50,000 250,000
20 & 300,000 50,000 250,000
o= 2% &4 ¢ uwn 183,000
oL 5UW DH &X
14,000,000 % 12J4 A 168,000
oXlFAl SLE HOAL(AX S) &l
500,000 *300H A&~ 15,000
OHA & 8Al SZE JH| 67,000
oS & ¥ IOk Al |
1,000,000 * 1294 & 12,000
oUEAL Y 2EX &XI
5,000,000 * 11 4 55,000
OBA S| &8 &Xl
6,250,000& *8IH A 50,000
HA™EAIAE(BIS) = 350,000 0 350,000
= 105,000
& 70,000
Al 175,000
403 XXISHMSAH=01H 350,000 0 350,000
= 105,000
& 70,000
Al 175,000
02 SI12S0 Ut AH=E2E ALY 350,000 0 350,000
= 105,000
& 70,000
Al 175,000
=0 A 350,000 0 350,000
== 105,000




2N nEW
HM: HznE 4 NF(NELYLESF/UEUE - S5SDIE
el HIERE AEE 22 (cr9l: &g
SN - O(BIH) - NRAY - BAS (ggj) @%%gm;ﬁ% D=2
= 70,000
Al 175,000
OHAAMBAIAEI(BIS) 2= 350,000
= 105,000
& 70,000
Al 175,000
HAEE AAE(BIS) KAIE4 33,028 0 33,028
308 AXIHAHSOIA 33,028 0 33,028
11 I 2SOHHSEAEE A 33,028 0 33,028
=20 A 33,028 0 33,028
OBHAAE AAEI(BIS) SXES 33,028
H&s CE2NSE SHEXS 1,210,538 1,136, 190 74,348
= 2,700
< 1,890
Al 1,205,948
T2 &M 800,000 800,000 0
401 A2 201 800,000 800,000 0
01 AlEBI 800,000 800,000 0
S0 A 800,000 800,000 0
O3 HECMBAHBH 27) 760,000
OAFHE LHCM AL
4,000,000 *102l 40,000
WECHHAIEZ &5 - 22| 361,506 203,950 157,556
201 LEt2AH| 61,256 53,300 7,956
01 AFR2teld| 13,600 9,600 4,000
=0 A 13,600 9,600 4,000
OR2INE == Jtiet BIIZA =2 13,600
o= 2Xt2Z 0|6t 1,300,000& *4 4 A~ 5,200
o= /AlS 2XI2 0|6t
2,100,000& #4 4 2~ 8,400
02 B2324| 47,656 43,700 3,956
S0 A 47,656 43,700 3,956
OuUSANE JIIRS 40,356
SINE==2k=P] 53,000& #5401 A+ 128 34,344
ocdBEE 15,0002 %190 A% 12& 3,420
od&S 12,000 %18l A x 122 2,592
QuUENS)| HI|HNEH =2
7,300,000&*13] 7,300
401 AlEHIL 200 300,250 150,650 149,600
01 Al&HI 300,250 150,650 149,600
=0 A 300,250 150,650 149,600
(@IME=IUFSEEPNEE, 26,250
o FO|H A|E 250,000 *35JH A~ 8,750
o KAl E X & 250,000 *35JH0 2 8,750




4,410

R SR
. O3] H) - HSAY - A2 (ggj) @%%gm;ﬁ% =2t
o B X T X|E 250,000 *35H 2~ 8,750
QuUENSI| S8
700,000 *500H 2~ 35,000
O&2s S8+ 200,000 %1000 2~ 2,000
OLZ: WSAS MOHI| DHBA
8,500, 000& *2JH A~ 17,000
ORoIck=IHIe X
40,000,000 *2JH 2~ 80,000
OKBL|eHHIIE WE slsD| AX|
90,000,000& *1JH A~ 90,000
Oaxe & WE Az &X
50,000,000 10 2 50,000
T2NE oA & 15,032 13,640 1,392
201 LB AH| 10,520 10,520 0
01 AtR2teldl 4,000 4,000 0
=0 A 4,000 4,000 0
O&=xD| Xtz 50,0002 x12& 600
QUEHNES 10,000& * 1004 1,000
OSCHEX| X2 22|Z 272 SX|22)
600,000 43| 2,400
02 2324t 6,520 6,520
S0 A 6,520 6,520
QtEIINNRES 50,000& *1CH*23] 100
ORCHEIX| Xter B2t X2t
35,0002+ 124 & 420
QUEXE xg |KFH|
250,000 2~ 12& 6,000
202 04| 4,512 3,120 1,392
01 2yl 4 512 3,120 1,392
S0 A 4,512 3,120 1,392
OUEXNT 2= (2HHSZ0MHI)
20,0003 *103|x12& 2,400
OSEANHZE 2248 U AST
88 2 23|« 12 2,112
FIHH L2X& 25,000 23,000 2,000
201 LEt2 A 2,000 2,000
01 AF22telt] 2,000 2,000
=0l A 2,000 2,000
OF=x&H M= 2,000,000 %13] 2,000
301 LEIEN= 23,000 21,000 2,000
14 JIEIE A2 23,000 21,000 2,000
=0l A 23,000 21,000 2,000
OSEHE =X 232X 23,000
NS WESOHN A K& 9,000 11,600 2,600
= 2,700
== 1,890
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2N nEW
M 2K SA9 XASK HEAHIA A= (WELVSFR/HEUWE - SFEIIEN
9l alEEA e WA (e @2
SN - O(BIH) - NRAY - BAS (%'%fj:) @%%gm;ﬁ% D=2
S0l A 2,912 2,960 A48
OMNSXSE Y SAEYR =
83,0002 x2H*123] 2,112
OMgXte s 9x19e =X
10,000& »2¥ 40! 800
HESAAH(LEDH) (JIEHDIEH 9,180 0 9,180
JlE3dd| 9,180 0 9,180
J|2&hl 9,180 0 9,180
201 LB A 6,780 0 6,780
01 AF22telb] 6,780 0 6,780
SHSOIA 6,780 0 6,780
202 04| 600 0 600
01 =Wyl 600 0 600
SH=O0I X 600 0 600
203 HR=AH| 1,800 0 1,800
M4 BEASISEL2FAY| 1,800 0 1,800
SAHZ20IH 1,800 0 1,800
HRES(DEW)(2ELXHINL/XFLEZA|) 318,883 136,453 182,430
WHEHHXI= 318,883 136,453 182,430
LHEHN K= 318,833 136,453 182,430
701 JIEISIHEETE2 318,833 136,453 182,430
01 JIEtSIHE =2 318,883 136,453 182,430
=0 A 318,833 136,453 182,430

O=xt&&e| S8 d&= 318,883




